M2C3 — Making Bugs Task

Annotated Student Work

The following provides samples of student work and descriptions of the
solution paths resulting from implementation of the Making Bugs Task.



Factors that Students Considered

 What bugs they wanted to make?
* How many legs and antennae their bugs would have?
* How many colors the body would be made out of?

Connections to Students’ Experiences

* Creating things out of play dough and fuzzy stems (i.e. pipe cleaners).
 Studying bugs.
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Warm-up - Making
Sense of the Task —
Grade 3

Grade 3 students
were asked to draw a
bug and then identify
the number pipe
cleaners and play
dough they would
need to create that
bug and explain why.



Making Sense of the Task -Grade 5
What do you Know, Need to Know, Assume?

Grade 5 —Warm-Up

Students identified what they
knew, what they would need to
know and what they could assume
about the materials and the
number of students who would be
making bugs.
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Making Sense of the Task
What do you Know, Need to Know, Assume?

Grade 5 —Warm-Up
(continued).

They used this information
to determine how many
packages of fuzzy stems
(pipe cleaners) and clay
(play dough) they would
need for the task.



Part 2: Show your work using picty
Pictures/Numbers
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Grade 3

Students were encouraged to use
pictures, equations and words to
explain their solutions. Each stick of
pay dough comes divided into 8
pieces. These students determined
how many sticks of play dough are
needed if each student gets

3-pieces by counting the number of
3-piece-sections needed for 34
students. They found that 13 sticks of
play dough were needed for 34
students and 2 pieces would be left
over. Note that the student is
counting the number sticks needed to
give each of 34 students 3/8 of a stick
but does not use this language.



Grade 4 This group determined that they needed 1 pipe cleaner to make 4 legs and 2 play dough pieces
to make the body of one spider. 39 (21 +18) students will make spiders. They will need 78 (2 X 39) pipe
cleaners for legs. Each container of play dough was divided into 8 pieces. Rounding 39 to 40 and doubling (2
pieces of play dough per student), they found 80 pieces of pay dough were needed for the two classes. They
divided 80 pieces of play dough by 8 pieces per container and determined he needed 10 containers of play
dough. Itis not clear how they determined 3 packages of play dough and 2 packages of pipe cleaners were
needed. The total number containers of play dough per package and number of pipe cleaners per package
used in this example were not specified and may have differed from the slides provided with this task.
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Grade 5
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determining the number of clay stick
packages needed for the bug’s body. First,
they divided 81 by 12 resultingin a
guotient of 6 with a remainder 9. They
interpreted the quotient 6 as the number
of packages needed. Using multiplication
they realized that 6 packages resulted in
72 sticks of clay and they would be short 9
sticks. They then found that 7 packages X
12 sticks per package = 84 sticks, enough
for each student to have a stick of clay.
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The next result stating one package of 12 clay sticks will “fit 4 people” does not appear to have been explained or explored to
determine how many total packages of clay would be needed for 81 students.



